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��0RQVLHXU�5LGKD�)DNLU���UHSUpVHQWDQW�GX�PLQLVWqUH�GH�OD�
VDQWp�SXEOLTXH��

��0RQVLHXU�)DUKDW�%H]]DRXLD���UHSUpVHQWDQW�GX�PLQLVWqUH�
GH�OD�FXOWXUH��GH�OD�MHXQHVVH�HW�GHV�ORLVLUV��

�� 0RQVLHXU� 7KDPHXU� .RXVNVL��� UHSUpVHQWDQW� GX�
PLQLVWqUH�GHV�VSRUWV��

�� 0RQVLHXU� 'RXED\D� 'RXED\D��� UHSUpVHQWDQW� GX�
PLQLVWqUH�GH�O
pGXFDWLRQ�HW�GH�OD�IRUPDWLRQ��

�� 0RQVLHXU� $EGHUUD]]HN� %RXJXHUUD��� UHSUpVHQWDQW� GH�
O
XQLRQ�WXQLVLHQQH�GH�OD�VROLGDULWp�VRFLDOH��

�� 0RQVLHXU� <DKLD� 7DKDU� 2XKLFKL��� UHSUpVHQWDQW� GH�
O
RUJDQLVDWLRQ�WXQLVLHQQH�GH�O
pGXFDWLRQ�HW�GH�OD�IDPLOOH��

�� 0RQVLHXU� +pGL� 1RXLUL��� UHSUpVHQWDQW� GH� O
DVVRFLDWLRQ�
WXQLVLHQQH�GH�GpIHQVH�VRFLDOH��

��0RQVLHXU�0RKDPHG� 1HMLE� %HQ� +DPGL��� UHSUpVHQWDQW�
GH�O
DVVRFLDWLRQ�©�HQIDQFH�HVSRLU�ª��

�� 0DGDPH� +pGLD� 7DOEL��� UHSUpVHQWDQWH� GH� O
DVVRFLDWLRQ�
WXQLVLHQQH�GHV�PqUHV��

�

�

0,1,67(5(�'(�/
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/$�)250$7,21�
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'pFUHW� Q�� ����������GX� ���RFWREUH� ������ UHODWLI� j�
O
RUJDQLVDWLRQ�GH�OD�YLH�VFRODLUH��

/H�3UpVLGHQW�GH�OD�5pSXEOLTXH��

6XU� SURSRVLWLRQ� GX� PLQLVWUH� GH� O
pGXFDWLRQ� HW� GH� OD�
IRUPDWLRQ��

9X� OD� ORL� G
RULHQWDWLRQ� Q�� �������� GX� ��� MXLOOHW� ������
UHODWLYH� j� O
pGXFDWLRQ� HW� j� O
HQVHLJQHPHQW� VFRODLUH�� HW�
QRWDPPHQW�VRQ�DUWLFOH�����

9X�OH�GpFUHW�Q������������GX����QRYHPEUH�������IL[DQW�
OHV� DWWULEXWLRQV� GX� PLQLVWqUH� GH� O
pGXFDWLRQ� HW� GH� OD�
IRUPDWLRQ��

9X�O
DYLV�GX�PLQLVWUH�GHV�VSRUWV��

9X� O
DYLV� GX� PLQLVWUH� GHV� DIIDLUHV� VRFLDOHV� HW� GH� OD�
VROLGDULWp��

9X�O
DYLV�GX�PLQLVWUH�GH�O
LQWpULHXU��HW�GX�GpYHORSSHPHQW�
ORFDO��

9X�O
DYLV�GX�PLQLVWUH�GHV�ILQDQFHV��

9X�O
DYLV�GX�PLQLVWUH�GH�OD�FXOWXUH��GH�OD�MHXQHVVH�HW�GHV�
ORLVLUV���

9X�O
DYLV�GX�PLQLVWUH�GH�OD�VDQWp�SXEOLTXH��

9X�O
DYLV�GX�WULEXQDO�DGPLQLVWUDWLI��

'pFUqWH���

7,75(�35(0,(5�

'H�OD�YLH�VFRODLUH�HW�VHV�SULQFLSHV�

$UWLFOH� SUHPLHU�� �� /D� YLH� VFRODLUH� FRQVWLWXH� XQ� FDGUH�
DSSURSULp� SRXU� OH� GpYHORSSHPHQW� GH� OD� SHUVRQQDOLWp� GH�
O
pOqYH�HW�GH�VHV�GRQV��SRXU�O
H[HUFLFH�GX�YLYUH�HQVHPEOH�HW�
SRXU� OH� GpYHORSSHPHQW� GHV� UHODWLRQV� pGXFDWLYHV� HQWUH� OHV�
DSSUHQDQWV�G
XQH�SDUW��HW�HQWUH�HX[�HW� OH�UHVWH�GHV�PHPEUHV�
GH� OD� FRPPXQDXWp� pGXFDWLYH� G
DXWUH� SDUW�� OHVTXHOOHV�
UHODWLRQV�VRQW�UpJLHV�SDU�OHV�SULQFLSHV�GX�UHVSHFW�PXWXHO��GH�
O
pTXLWp�� GH� O
REMHFWLYLWp� HW� GX� FDUDFWqUH� � LQGLVVRFLDEOH� GHV�
GURLWV�HW�GHV�GHYRLUV��

(Q� WDQW� TXH� SURORQJHPHQW� GHV� DSSUHQWLVVDJHV� GDQV� OHV�
FODVVHV�� OD� YLH� VFRODLUH� FRXYUH� OHV� GLYHUVHV� DFWLYLWpV�
pGXFDWLYHV�� FXOWXUHOOHV�� VRFLDOHV� HW� GH� ORLVLU� DX[TXHOOHV�
V
DGRQQHQW�OHV�pOqYHV��GH�PrPH�TXH�OHV�VHUYLFHV�VDQLWDLUHV�HW�
VSRUWLIV� TXL� OHXU� VRQW� RIIHUWV�� HQ�KDUPRQLH� DYHF� OD�PLVVLRQ�
GH�O
pGXFDWLRQ�HW�OHV�IRQFWLRQV�GH�O
pFROH��

$UW�� ��� �� /D� YLH� VFRODLUH� UHSRVH�� DX� VHLQ� GHV�
pWDEOLVVHPHQWV�VFRODLUHV��VXU�OHV�UqJOHV�VXLYDQWHV���

�� UHFRXULU� DX� GLDORJXH� HQWUH� WRXWHV� OHV� SDUWLHV� GH� OD�
FRPPXQDXWp� pGXFDWLYH� HW� SULYLOpJLHU� OD� FRQFHUWDWLRQ� HW� OD�
SHUVXDVLRQ� SRXU� OD� UpVROXWLRQ� GHV� SUREOqPHV� GH� OD� YLH�
VFRODLUH��

�� SURPRXYRLU� OD� FRRSpUDWLRQ� HW� OD� VROLGDULWp� HQWUH� OHV�
PHPEUHV� GH� OD� FRPPXQDXWp� pGXFDWLYH� GH� VRUWH� TXH� VH�
GpYHORSSH� HQ� HX[� OH� VHQWLPHQW� G
DSSDUWHQDQFH� j�
O
pWDEOLVVHPHQW��HW�TXH�V
DIIHUPLVVH�OHXU�OLHQ�DYHF�OXL��
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